OntologySummit2010: Creating the Future Ontologists

RTDelphi — Study on the “Future of Ontologists” - Collected Input

Development Timeframe Actions Barriers
What is your time estimate for What are thetop 3to5 |What are the key barriers
this to happen? things that need to to this development,
happen to trigger and what can be
here now (please explain) ( 0) this develt_)pr_'n_ent done t_o mlt_lg_jate
On a alobal basis. at within 2 vears (1 (please prioritize by each (identified by
global basis, y listing the most yourself or others)
1 Ir(]a:vs; ;?1 uonr:\tlg';séi'/es 2-5 years (2) important ones first) to accelerate its
- h i
Science department. 5-10 years (5) appening
10-20 years (4) Responses = 15 (compared to your
time estimate in
beyond 20 years (1) column 1)
never (please explain) (10)
Responses =9
What is your time estimate for What are thetop 3to5 |What are the key barriers
this to happen? things that need to to this development,
happen to trigger and what can be
here now (please explain) ( 0) this develc_)pr_n_ent done t_o mlt_lg_]ate
On a global basis, at ithin 2 0 (please prioritize by each (identified by
least 10 universities within 2 years (0) listing the most yourself or others)

2 |have an Ontology 2-5 years (2) important ones first) to accelerate its
Engineering 5-10 years (5) happening
department. 10-20 years (3) Responses = 1 (f:ompar.ed to your

time estimate in
beyond 20 years (0) column 1)
never (please explain) (10)
Responses = 1
What is your time estimate for What are thetop 3to5 |What are the key barriers
On a global basis, at this to happen? things that need to to this development,
least 10 universities happen to trigger and what can be
have crosg-disciplinary here now (please explain) ( 1) this develc_)pr_n_ent done t_o mit_ig_jate
programs in Ontology within 2 years (2) (please prioritize by each (identified by
Science and/or listing the most yourself or others)

3 |Engineering department| 2-5 years (4) important ones first) to accelerate its
offering Master degrees | 5-10 years (7) happening
(for career 10-20 years (5) Responses = 6 (_compar_ed to your
professionals) or PhD time estimate in
degrees (for beyond 20 years (0) column 1)
researchers). never (please explain)  (2)

Responses = 3

At 5% of all What is your time estimate for What are thetop 3to5 |What are the key barriers

t ?aSt. °|° a this to happen? things that need to to this development,
protessionals in system happen to trigger and what can be
architecture, systems - this development done to mitigate
design and engineering, here now (please explain) ( 0) | ioritize b h (identified b
software engineerin within 2 years (2) (_p ease prioriize by each (identified by
and informa?ion 9 y listing the most yourself or others)

4 technology will be 2-5 years (1) important ones first) to accelerate its

- h i
required to have proper 5-10 years (10) R _o (cafrg:g:.:g to your
ontology training (and a | 10-20 years (1) esponses = time estimate in
larger number will need | beyond 20 years (1) column 1)
some background in never (please explain) (2)
ontology). Responses = 1

, What is your time estimate for What are thetop 3to5 |What are the key barriers
Accred|F|<acli)|pr?grams this to happen? things that need to to this development,
are available from happen to trigger and what can be
educational institutions , this development done to mitigate
that train certified here now (please explain) ( 0) opm¢ : 19

rofessional Ontologists| within 2 years (1) (please prioritize by each (identified by
P ith the kind of 9 y listing the most yourself or others)

5 |(with the kind o 2-5 years (4) important ones first) to accelerate its
standings that other .

; ; 5-10 years (1) happening
professionals like _ (compared to your
scientists, engineers, 10-20 years (7) Responses = 1 time estimate in
architects, lawyers, beyond 20 years (1) column 1)
doctors, nurses, never (please explain) (2)
pharmacists, etc.) Responses = 1

What is your time estimate for |What are thetop 3to5 |What are the key barriers
this to happen? things that need to to this development,
happen to trigger and what can be
The terms and the : i
L ; this development done to mitigate
" here now (please explain) (0
gfm%?cl;ne"saorf q Formal within 2 e(er plain) E 5; (please prioritize by each (identified by
"Ontol gy in _ y listing the most yourself or others)
6 chgcs)eg'yalpe grgg;ﬁ;'on 2-5 years (1) important ones first) to accelerate its
- h i
understood by 5-10 years (8) _ (cafn'::::r;g to your
academia and industry | 10-20 years (0) Responses = 3 . : "
. | fiel time estimate in
(in related fields). beyond 20 years (1) column 1)
never (please explain) (2)
Responses = 2
What is your time estimate for What are thetop 3to5 |What are the key barriers
this to happen? things that need to to this development,
happen to trigger and what can be
here now (please explain) ( 1) this develt_)pr_'n_ent done t_o mlt_lg_jate
The "ontology" word, within 2 years (2) (please prioritize by each (identified by
and teaching of the listing the most yourself or others)

7 |basics of it, shows up in 2-5 years (1 important ones first) to accelerate its
secondary/high school | 5-10 years (2) happening
education. 10-20 years (2) Responses = 1 (.compar.ed to your

time estimate in
beyond 20 years (4) column 1)
never (please explain) (4)
Responses = 1
What is your time estimate for What are thetop 3to5 |What are the key barriers
this to happen? things that need to to this development,
happen to trigger and what can be
here now (please explain) ( 0) this develc_)pr_n_ent done t_o mlt_lg_]ate
The "ontology" word, within 2 years (0) (please prioritize by each (identified by
and teaching of the listing the most yourself or others)

8 |basics of it, shows up in | 2-5 years (1 important ones first) to accelerate its
primary/elementary 5-10 years (0) happening
school education. 10-20 years (3) Responses = 2 (f:ompar.ed to your

time estimate in
beyond 20 years (5) column 1)
never (please explain) (7)
Responses = 1
What is your time estimate for What are thetop 3to5 |What are the key barriers
this to happen? things that need to to this development,
o happen to trigger and what can be
The discipline of _ : o
"Ontology" is properly here now (please explain) ( 0) this develc_)pr_n_ent done t_o mlt_lgate
ithin 2 (please prioritize by each (identified by
undelrstogd by everyday | within 2 years (0) listing the most yourself or others)

9 ggoptla_ (t ell\ll(vay 2-5 years (1) important ones first) to accelerate its
n:Z(ErI\F:alrrr]\i\ficls ephysics 5-10 years (2) happening
psychology, music, art, | 10-20 years (4) Responses = 2 g?n‘:grangsa:i?:attz Y: ur
etc. are understood). beyond 20 years (4) column 1)

never (please explain) (5)
Responses = 1
What is your time estimate for What are thetop 3to5 |What are the key barriers
this to happen? things that need to to this development,
happen to trigger and what can be
, ; his development done to mitigate
here now (please explain) (1) t e . -
Ianrtee:gaﬂ?anr?l E;&ilrr:dards within 2 vears (1) (please prioritize by each (identified by
: 9 y 9 y listing the most yourself or others)
10 |developedand 2-5 years (2) important ones first) to accelerate its
expressed, BOTH in a .
5-10 years (8) happening
natural language and as 10.20 4 Responses = 1 (compared to your
an ontology. ~ou years (4) time estimate in
beyond 20 years (0) column 1)
never (please explain) (0)
Responses = 1
What is your time estimate for |What are thetop 3to5 |What are the key barriers
this to happen? things that need to to this development,
happen to trigger and what can be
. o i this development done to mitigate
here now (please explain) ( 2) R . 3
Eferi:}ifnto;etg?cfltizgeasre within 2 vears (2) (please prioritize by each (identified by
CI_I blyf 9 y listing the most yourself or others)
11 ;a)\r/s;eassiin(;rl and public 2-5 years (5) important ones first) to accelerate its
- h i
use (and they are being ?Jgoyeafs ( ?) Responses - (ca(frﬁ;g'rgg to your
regularly used). -20 years (1) time estimate in
beyond 20 years (0) column 1)
never (please explain) (0)
Responses = 1
What is your time estimate for |What are thetop 3to5 |What are the key barriers
this to happen? things that need to to this development,

. happen to trigger and what can be

Compelling tools that this devel t d to mitiaat
here now (please explain) ( 0) IS developmen one to mitigate
ianl:%‘:’mz\;gﬁgigata and within 2 vears (1) (please prioritize by each (identified by
" o y listing the most yourself or others)
12 e?/r:r(;/lgg;/zsgogé 2-5 years (0) important ones first) to accelerate its
- h i
emerge; please suggest ‘:’ 0128’ ears ( (1)0) Responses = 3 (cafn':zglrgg to your
what those tools might -cU years (0) time estimate in
be. beyond 20 years (1) column 1)
never (please explain) (3)
Responses = 3
What is your time estimate for What are the top 3to5 |What are the key barriers
this to happen? things that need to to this development,
happen to trigger and what can be
here now (please explain) ( 2) this develt_)pr_'n_ent done t_o mlt_lg_jate
Compeliing "ontoloqv- within 2 vears (1) (please prioritize by each (identified by
bf) g 9 i 9y y listing the most yourself or others)

13 gnmaerge_ ngslgastfggest 2-5 years (9) important ones first) to accelerate its

) _ h H
what they might be. 5-10 years (2) (cafn':e:'rr;% o vour

10-20 years (1) Responses = 2 compar y
time estimate in
beyond 20 years (0) column 1)
never (please explain) (0)
Responses = 1
What is your time estimate for What are thetop 3to5 |What are the key barriers
this to happen? things that need to to this development,
happen to trigger and what can be

. . here now (please explain) ( 5) this develc_)pr_n_ent done t_o mlt_lg_]ate
Compelling evidence of within 2 years (2) (please prioritize by each (|dfent|f|ed b);
the benefits of listing the most yourself or others

14 "Ontology" emerge; 2-5 years (3) important ones first) to accelerate its
please suggest what 5-10 years (5) happening
they might be. 10-20 years (0) Responses = 3 (f:ompar.ed to your

time estimate in
beyond 20 years (0) column 1)
never (please explain) (0)
Responses = 1
What is your time estimate for What are thetop 3to5 |What are the key barriers
this to happen? things that need to to this development,
Significant increase happen to trigger and what can be
(10x the current level or | here now (please explain) ( 0) th:s develc_)pr_lz_entb donr? t_c:j mltt_lfc_ja(t:leb
better; assuming current| within 2 years (1) (_p (ase priorize by each (identified by
level . gc y listing the most yourself or others)

15 (levelis non-zero) in 2-5 years (4) important ones first) to accelerate its
R&D funding is put into :

: 5-10 years (5) happening
de.veIOplng ontOIOgy 10-20 vears ( 1) Responses = 1 (Compared to your
sclence a_md y time estimate in
engineering. beyond 20 years (2) column 1)

never (please explain) (3)
Responses = 1
What is your time estimate for What are thetop 3to5 |What are the key barriers
this to happen? things that need to to this development,
happen to trigger and what can be
here now (please explain) ( 0) this develt.)pr.n.ent done tp mlt_lgate
ithin 2 1 (please prioritize by each (identified by
A maijor breakthrough is within 2 years (1) listing the most yourself or others)
16 |made in the field of 2-5 years (2) important ones first) to accelerate its
Ontology. 5-10 years (9) happening
10-20 years (1) Responses = 2 (_compar_ed to your
time estimate in
beyond 20 years (0) column 1)
never (please explain) (3)
Responses = 1

Date: cut-off end 25 February, 2010
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